

Assignment Answer

$$y = 2x^2, \text{ at } (1, 2)$$

Solution

$$\frac{dy}{dx} = 4x$$

$$\frac{dy}{dx} / x \rightarrow 1 = 4, \quad m = \frac{dy}{dx} / x \rightarrow 1$$

$$\therefore m = 4$$

$$y - y_1 = m(x - x_1) \quad (\text{Equation of tangent})$$

$$\therefore y - 2 = 4(x - 1)$$

$$y - 2 = 4x - 4$$

$$y - 4x + 2 = 0 \quad (\text{Equation of tangent})$$

$$y - y_1 = -\frac{1}{m}(x - x_1) \quad (\text{Equation of normal})$$

$$\therefore y - 2 = -\frac{1}{4}(x - 1)$$

$$4y - 8 = -x + 1$$

$$4y + x - 9 = 0 \quad (\text{Equation of normal})$$

$$y = 3x^2 - 2x, \text{ at } (2, 8)$$

Solution

$$\frac{dy}{dx} = 6x - 2$$

$$\frac{dy}{dx} / x \rightarrow 2 = 10 \quad m = \frac{dy}{dx} / x \rightarrow 2$$

$$4y + x - 9 = 0 \text{ (Equation of normal)}$$

$$y = 3x^2 - 2x, \text{ at } (2, 8)$$

Solution

$$\frac{dy}{dx} = 6x - 2$$

$$\frac{dy}{dx} \Big|_{x=2} = 12 - 2 = 10, \quad m = \frac{dy}{dx} \Big|_{x=2}$$

$$\therefore m = 10$$

$$y - y_1 = m(x - x_1) \text{ (Equation of tangent)}$$

$$\therefore y - 8 = 10(x - 2)$$

$$y - 8 = 10x - 20$$

$$y - 10x + 12 = 0 \text{ (Equation of tangent)}$$

$$\therefore y - y_1 = -\frac{1}{m}(x - x_1) \text{ (Equation of normal)}$$

$$\therefore y - 8 = -\frac{1}{10}(x - 2)$$

$$10y - 80 = -x + 2$$

$$10y + x - 82 = 0 \text{ (Equation of normal)}$$

$$(x+1)$$

Note: Both maximum and minimum
do not have points.

T.P.

$$y = \frac{x^3}{2} \text{ at } (-1, 6 - \frac{1}{2})$$

Solution

$$\frac{dy}{dx} = \frac{3x^2}{2}$$

$$\frac{dy}{dx} / x = -1 = \frac{3(-1)^2}{2}$$

$$\frac{dy}{dx} / x = \frac{3}{2} \quad m = \frac{dy}{dx} / x = \frac{3}{2}$$

$$\therefore m = \frac{3}{2}$$

$$y - y_1 = m(x - x_1) \text{ (Equation of tangent)}$$

$$y - (-\frac{1}{2}) = \frac{3}{2}(x - (-1))$$

$$y + \frac{1}{2} = \frac{3}{2}(x + 1)$$

Multiply through by 2

$$2y + 1 = 3(x + 1)$$

$$2y + 1 = 3x + 3$$

$$2y - 3x - 2 = 0 \text{ (Equation of tangent)}$$

$$y - y_1 = -\frac{1}{m}(x - x_1) \text{ (Equation of normal)}$$

$$y - (-\frac{1}{2}) = -\frac{2}{3}(x - (-1))$$

$$y + \frac{1}{2} = -\frac{2}{3}(x + 1)$$

Multiply through by 6

$$6y + 3 = -4(x + 1)$$

$$6y + 3 = -4x - 4$$

$$6y + 4x + 7 = 0 \text{ (Equation of normal)}$$

$$y = 1 + 2x - x^2, \text{ at } (-2, -5)$$

Solution

$$\frac{dy}{dx} = -2x + 1$$

$$\frac{dy}{dx} / x \rightarrow -2 = -2(-2) + 1, m = \frac{dy}{dx} / x \rightarrow -2$$

$$\therefore m = 5$$

$$y - y_1 = m(x - x_1) \text{ (Equation of tangent)}$$

$$y - (-5) = 5(x - (-2))$$

$$y + 5 = 5(x + 2)$$

$$y + 5 = 5x + 10$$

$$y - 5x - 5 = 0 \text{ (Equation of tangent)}$$

$$y - y_1 = -\frac{1}{m}(x - x_1) \text{ (Equation of normal)}$$

$$\therefore y - (-5) = -\frac{1}{5}(x - (-2))$$

$$y + 5 = -\frac{1}{5}(x + 2)$$

$$5(y + 5) = -x - 2$$

$$5y + 25 = -x - 2$$

$$5y + x + 27 = 0 \text{ (Equation of normal)}$$

$$\frac{1}{2}x \text{ at } (3, \frac{1}{3})$$

Solution

$$y = x^{-1}$$

$$\therefore \frac{dy}{dx} = -1x^{-2} \text{ or } -x^{-2}$$

$$\frac{dy}{dx} / x = 3 = -3^{-2} = \frac{1}{(-3)^2} = \frac{1}{9}$$

$$m = \frac{dy}{dx} / x = 3$$

$$\therefore m = \frac{1}{9}$$

$$y - y_1 = m(x - x_1) \text{ (Equation of tangent)}$$

$$y - \frac{1}{3} = \frac{1}{9}(x - 3)$$

Multiply through by 9

$$5(y+5) = -x-2$$

$$5y+25 = -x-2$$

$$5y+x+27=0 \text{ (Equation of normal)}$$

$$y = \frac{1}{5}x \text{ at } (3, \frac{1}{5})$$

Solution

$$y = x^{-1}$$

$$\therefore \frac{dy}{dx} = -1x^{-2} \text{ or } -x^{-2}$$

$$\frac{dy}{dx} / x \rightarrow 3 = -3^{-2} = \frac{1}{(-3)^2} = \frac{1}{9}$$

$$m = \frac{dy}{dx} / x \rightarrow 3$$

$$\therefore m = \frac{1}{9}$$

$$y - y_1 = m(x - x_1) \text{ (Equation of tangent)}$$

$$y - \frac{1}{5} = \frac{1}{9}(x - 3)$$

Multiply through by 9

$$9y - 3 = x - 3$$

$$9y - x = 0 \text{ (Equation of tangent)}$$

$$y - y_1 = \frac{1}{m}(x - x_1) \text{ (Equation of normal)}$$

$$y - \frac{1}{5} = 9(x - 3)$$

Multiply through by 5

$$5y - 1 = 45(x - 3)$$

$$5y - 1 = 45x - 135$$

$$5y - 45x + 134 = 0 \text{ (Equation of normal)}$$